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QUESTION 1

A customer uses a shared AIX server to store their source code and for building their source code for deployment. What
command must the solution developer use on this server to create a broker archive (BAR) file? 

A. mqsireadbar 

B. mqsicreatebar 

C. mqsipackagebar 

D. mqsiapplybaroverride 

Correct Answer: C 

 

QUESTION 2

A company has person information in its HR system and another application system. Person schemas in these two
systems are similar. The solution developer uses the Mapping node to map the person information when developing an
application. Following is the detailed information about the Mapping node. 

This is the person information record that exists in the HR system. 
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After the solution developer performs this transformation for this person information, which one of following results is
correct? 

A. A. Alexandra . Thomas +1-803-467-1234 Pennsylvania Avenue NW,Washington DC 197104-17 09:05:03  

B. B. Alexandra . Thomas +1-803-467-1234 Pennsylvania Avenue NW,Washington DC 197104-17T09:05:03  

C. C. Alexandra Thomas +1-803-467-1234 Pennsylvania Avenue NW,Washington DC 1971-0417T09:05:03  

D. D. Alexandra Thomas +1-803-467-1234 Pennsylvania Avenue NW,Washington DC 1971-0417 09:05:03  

Correct Answer: B 

 

 

QUESTION 3

A message flow with a JMSInput node receives a message with a blank Message Domain. The message is a
TextMessage and does not include a JMSType header. Which domain parser should the solution developer expect the
broker to use? 

A. XML 

B. BLOB 

C. XMLNSC 

D. JMSStream 

Correct Answer: A 

 

QUESTION 4

A solution developer is creating a number of scripts to automate the building and deployment of BAR files. These scripts
will run on an AIX server, where the source repository is located and the Message Broker API (CMP) has been installed
and configured. Which command can the solution developer NOT use in the automation scripts? 

A. mqsicreatebar 

B. mqsipackagebar 

C. mqsistartmsgflow 
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D. mqsicreateexecutiongroup 

Correct Answer: A 

 

QUESTION 5

A solution developer needs to import a WSDL into an Application. The WSDL references a set of XML Schemas that
contain xsd:import statements as well as xsd:redefine statements. What happens when the solution developer imports
this WSDL into an Application? 

A. The XSDs are imported without error into the main application 

B. A pop-up dialog appears asking the developer how to resolve the redefine statements. 

C. The WSDL and XSDs are imported, but errors appear saying that redefines are not supported. 

D. The WSDL is imported into the main application, the XSDs are imported into a dependent Library 

Correct Answer: C 

 

QUESTION 6

To create a message definition, a solution developer has performed the following steps: 1.Create a new message set
2.Create a new message definition file 3.Add a Tagged/Delimited String (TDS) physical format to the message set
4.Import a COBOL copybook 5.Add a Custom Wire Formats (CWF) physical format to the message set 6.Import a C
header file Which of the following is true? 

A. The message definition file created in step 2 contains no logical definitions. 

B. The message definition file created in step 2 does not support any physical formats. 

C. The length of the fields on the TDS format in the C message definition are not set. 

D. The length of the fields on the CWF format in the COBOL message definition are not set. 

Correct Answer: A 

 

QUESTION 7

A message flow developer needs to create a message definition to model a COBOL document that starts with the
following definition. 
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Using the MRM-TDS physical format, what type of message model should the solution developer create? 

A. A single message definition that contains a tagged/fixed length choice. 

B. A single message definition that contains a tagged/fixed length sequence. 

C. Two message definitions, one tagged/delimited and one tagged/fixed length. 

D. Two message definitions, both tagged/fixed length. 

Correct Answer: A 

 

QUESTION 8

A healthcare company needs to implement WS-Security integrity message signing for an existing web service flow that
will now be handling sensitive data. Which nodes can the solution developer use to develop this enhancement?
(Choose two) 

A. HTTPInput 

B. HTTPRequest 

C. SOAPInput 

D. SOAPRequest 

E. SOAPEnvelope 

Correct Answer: CD 

 

QUESTION 9

While testing a message flow with a Compute node that contains two PROPAGATE statements, a solution developer
discovered that the output message assembly is empty before the second PROPAGATE statement is executed. What
must the solution developer do to prevent this from happening? 

A. Add a DELETE NONE clause to the first PROPAGATE statement. 

B. Add a DELETE DEFAULT clause to the first PROPAGATE statement. 

C. Add a FINALIZE DEFAULT clause to the first PROPAGATE statement 

D. Write a SET OutputRoot.Body = InputRoot.Body statement before the second PROPAGATE statement. 

Correct Answer: A 

 

QUESTION 10

An international fund transfer acknowledgement message having the below format is to be validated, before being sent
to the payment gateway. 
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A solution developer has to implement a message validator for these transactions. What message domain should the
solution developer use to do so? 

A. MIME 

B. MRM-TDS 

C. MRM-CWF 

D. DataObject 

Correct Answer: B 

 

QUESTION 11

A sample snippet of an incoming message is shown below. 

A solution developer is asked to design a message model that only processes messages that contain an allowed list of
currency codes and rejects other messages. How can the solution developer modify the message model to achieve
this? 

A. Add the allowed currency codes in Fixed Value. 

B. Add the allowed currency codes in Default Value. 

C. Add the allowed currency codes in Enumerations. 

D. Add the currency codes in Block Substitution settings. 

Correct Answer: C 

 

QUESTION 12
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A customer recently implemented a new standard that all deployable objects must display Version, Author, and Defect
number in the QuickView panel of Message Broker Explorer. How must the solution developer code this requirement? 

A. andMQSI_Version=v1.0 MQSIand andMQSI Author=George MQSIand andMQSI Defect=123456 MQSIand 

B. %MQSI_Version=v1.0 MQSI% %MQSI Author=George MQSI% %MQSI Defect=123456 MQSI% 

C. $MQSI_Version=v1.0 MQSI$ $MQSI Author=George MQSI$ $MQSI Defect=123456 MQSI$ 

D. andWMB_Version=v1.0 WMBand andWMB Author=George WMBand andWMB Defect=123456 WMBand 

Correct Answer: C 
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